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. (b')- Under what circumstances does the Central Bank-'
‘employ the unconventwnal monetary pohcy ;
j measures‘? Briefly explam any three nnconventmnal'

monetary measuresds i ol ksl (8+7)_ %

(=) mif wwmﬁﬁm%%ﬁvwﬁ
mﬁrﬁaﬁm% ﬂﬁﬁmwﬁﬁmmm

#, wafd, amrﬂm% A Ay a0 W T ww T

: mmmmmﬁimﬁm% @rﬁw

aﬁtaﬁumaﬁn P ke e e

-

@ %mﬁmwﬁmﬁmﬁmmm

8 ¥ e i

(1000)

" Name of the Papcr

* Duration : 3 Hours

- [This quesfion paper contains 12 printed pages.]

- Your Reoll No......... e

“Sr. No. of Question Paper 3876 S
Umque Paper Code ; : .122.77606'

Money & Financial Markets

Namg o.f\the Course B.A.l (Hons.) Economics :
Semester . ey '
Maxlmum Marks 75

. L

" : Instructions_ for Candidates

1. Write your Roll No. on the top 1mmcd1ately on recelpt
~of this question paper. -

2. Attempt any Five Questions.

3.  The distribution of the marks is given with the question.

4. Answers may be written either in English or Hindi;

but the same medium should be used throughout the
paper.
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2. fad dter W ‘%W?ﬂﬁl‘? o \ S : " 7. . (4) Compare and contrast the degree and nature of
3 g Ry R W Rar i I i : El e "l " © the banking crisis that took place in two separate
4. T W~ T F IR mmﬁﬁmwmim .am : S i - . - episodes, i:e._,-l.‘9~97-2002"'an'd in the aftermath of

.wmmmwamw. , R © . 2008 Global financial crisis.

(b) How will Basel III affect the profitability of banks?
1. (a) List out the new monetary and liquidity a'ggregates ; Will ‘i.t alter thgir' in’cc‘:nti_ve. structure? , -.(87%7)

as per the Third Working Group of the RBI. e A S ; gl O §m - '
' - S . O ()R -t gy |, s, 1997 -2002 SR 2008
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‘How did the Third Working Group eventually e

treat the liabilities .of non-banking financial
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(b) On the purchase of certain commodities, suppose
the Government of India makes a cash payment

“of Rs. 50 crores to the public out of which, the Voo : :
£ 4 : 0 8. (a) In the long run, an output target is a quixotic goal
~ public keeps Rs. 10 crores in the form of currency :
' : SRS T o for monctary pollcy, since it cannot be attamed

and deposits of Rs.40 crores with their banks. Tl _
il : i e whereas, in -the short run, monetary pohcy might
Further let us suppose that after accepting these
: ie i o TN TR Y be able to achieve either a prlce level target or an

d i : | k just keeps >
.eposus, the conc‘erned bank jus i ee‘.ps-'Rs 8 Stk target but not both.” Explam.

. crores as reserves with the RBL
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« working of Prlme Lending Rate system

Benchmark Prime Lendmg Rate system the Base “

10 S

Rate system and thie Marglnal Cost of Funds based i

Lendmg Rate system

(b)

What is multlple mdlcator approach‘? Elaborate the :

operating framework under Augmented multlple

mdlcator approach 1mp1emented in 1-998; :

(10+5) -
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1If the RBLnow buys treasury bills worth Rs. 90

- crores from the bank, then h‘ov& much of money

supply will be generated in the economy solely on :

account of open market operations? W

/ g

; Wo'u_ld your answer get modified in case the

‘quantum of High Powered money in the economy

' instead increases by Rs. 90 crores via banks’

borrowings of an equivalent amount from the

RBI?
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2.5 48 What,'is_asymmetric information? How “does

adverse selection affect interest rate in case of a

_ bank with market power? -

9

(b) Briefly ‘eXplain the views of the Third Working

_"Group on the

- (i) Coverage of depository corporations -

(i) Residency = (10+5)
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(i) ﬁmwn

. (a) The issue of transmission froni the policy rate to

banks’ lending rates has been a matter of concern

for RBIL. In this context crifici;ally examine the.j
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(b) Hlustrate the determmatxon of prlces and yleids

for bonds llsted and bonds ~not Ilsted“on the

'seco-ndary,b_ond market. Whach ones .are less "

liquid and what is the ‘i'mpl'ioa_tion,'to i‘nteres't'. ;
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(b) Detiveithe broad-money multiplier Explain the

adjustmeqts that need to be made to arrive at a
falrly general model of money multiplier in the

(6+9) .

by ¥ Indlan context.
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e : 4 b g AT i : 3 (a) As_oumo an Asset XYZ that e‘xpife's in one month

l 5 ‘and has a strike pr,icfel‘ of \-'Rs.' 105. The _option

s (a) What is a yield ‘curve? Which theory asserts that price 15 Rs. 2 and the current price is Rs. 105. -

long term mterest rates_are an average of short ; Compare and £onam the risk- reward profile. of

ferm interest rates during the life of the Htigas a long call position with a short call.rp_osi-tion' with

term ass.otél? I,ll_ustrate._ .'variousw forms of yield the help of a t?ble and graphs.

curves in this context. ' : | : ‘ . ' : i
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| year and thg-_.foll(;win‘g probabilities of default, -

6
Consider two coupon bonds with face value of

Rs. 1000, coupon rate of 10%, matur;ing in one

: respectively :

‘.pre‘mium on each of these. . : 7(_9'+'6) :

() ¥ P SRERY XYZ v R @

(i) 10%.

- (i) 20%

Assuming market interest rate of 8 %, calculate i,

yield to maturity in case the two cOupon bonds

are default free. Also calculate the default risk
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4. (a) What is liquidity risk? Illustrate diagrammatically
“how- this is ‘factored, in the ,_determi"nation of

interest rates on bonds issued by small and large

corporations,
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